
 

 

230 / 287 

 

 



 

 

FK 01884 Gºvde / Sump 

Referans / Reference 

Gºmlek / Cylinder Liner FK 
00014 

Referans /Reference 

¦st Kapak / Cover FK 
00012 

Referans / Reference 

Pleyt / Plate FK 
00356 

Referans / Reference 

230 

Filkar 

65.9-75.12-80.12 

Fiat 35NC-50NC 

Otoyol Iveco 35.9 

Silindir ¢apĩ / Cylinder Bore Ï60 

Strok / Stroke 25 mm 

Hacim / Swept Volume 70 cm3 

Mak. ¢alĩīma Devri / Max. Operating Speed 3000 rpm 

Mak. ¢alĩīma Basĩncĩ / Max. Operating Pressure 10 bar 

Mak. ¢alĩīma Sĩcaklĩħĩ / Max. Operating Temperature 200 ÁC 

Yaħlama Sistemi / Lubrication Supplied Engine 

Soħutma Tipi / Cooling Type Hava/Air 

Sogutma Hava Akĩīĩ / Cooling Air Flow @ >8 Bar 8 m/s 

Hava Emiī Portu / Inlet Port [0] Ï14 

Hava ¢ĩkĩī Portu / Discharge Port [2] 3/4"x16G 

Yaħ Giriī Portu / Oil Supply Port [8.1] M10x1,25 

Yaħ ¢ĩkĩī Portu / Oil Drain Port [8.2] M12x1,5 

Soħutma Suyu Giriī Portu / Coolant Inlet Port [9.1] 

Soħutma Suyu ¢ĩkĩī Portu / Coolant Drain Port [9.2] 

FK 010 03010 HAVA KOMPRES¥R¦ 



 
 

Biyel Kolu / Con Rod FK 
00359 

Referans / Reference 

Krank / Crank FK 
00047 

Referans / Reference 

Piston / Piston FK 
00015 

Referans / Reference 

Segman / Ring FK 
00017 

Referans / Reference 

Rulman K. / Bearing Flange FK 00045 

Referans / Reference 

Kasnak / Pulley FK 
00062 

Referans / Reference 

¦st Kapak Takĩmĩ / Cover Kit FK 010 90000 

Referans / Reference 

Tamir Takĩmĩ / Repair Kit FK 010 
90052 

Referans / Reference 

Ke­e / Seai FK 

00055 

Referans / Reference 

Rulman / Bearing FK 
00016 

Referans / Reference 

231 



 

 

FK 00060 Gºvde / Sump 

Referans / Reference 

Gºmlek / Cylinder Liner FK 
00014 

Referans /Reference 

¦st Kapak / Cover FK 
00012 

Referans / Reference 

Pleyt / Plate FK 
00356 

Referans / Reference 

232 

Filkar 

Isuzu NPR Īampiyon 

MD 27 

Silindir ¢apĩ / Cylinder Bore Ï60 

Strok / Stroke 25 mm 

Hacim / Swept Volume 70 cm3 

Mak. ¢alĩīma Devri / Max. Operating Speed 3000 rpm 

Mak. ¢alĩīma Basĩncĩ / Max. Operating Pressure 10 bar 

Mak. ¢alĩīma Sĩcaklĩħĩ / Max. Operating Temperature 200 ÁC 

Yaħlama Sistemi / Lubrication Supplied Engine 

Soħutma Tipi / Cooling Type Hava/Air 

Sogutma Hava Akĩīĩ / Cooling Air Flow @ >8 Bar 8 m/s 

Hava Emiī Portu / Inlet Port [0] Ï14 

Hava ¢ĩkĩī Portu / Discharge Port [2] 3/4"x16G 

Yaħ Giriī Portu / Oil Supply Port [8.1] M10x1,25 

Yaħ ¢ĩkĩī Portu / Oil Drain Port [8.2] M12x1,5 

Soħutma Suyu Giriī Portu / Coolant Inlet Port [9.1] 

Soħutma Suyu ¢ĩkĩī Portu / Coolant Drain Port [9.2] 

FK 010 21010 HAVA KOMPRES¥R¦ 



 
 

Biyel Kolu / Con Rod FK 
00359 

Referans / Reference 

Krank / Crank FK 
00064 

Referans / Reference 

Piston / Piston FK 

00015 

Referans / Reference 

Segman / Ring FK 

00017 

Referans / Reference 

Rulman Kp. / Bearing Flange FK 00045 Kasnak / 

Pulley 
FK 00062 

Referans / Reference Referans / Reference 

¦st Kapak Takĩmĩ / Cover Kit FK 010 90000 

Referans / Reference 

Tamir Takĩmĩ / Repair Kit FK 010 

90112 

Referans / Reference 

Ke­e / Seai FK 

00055 

Referans / Reference 

Rulman / Bearing FK 
00016 

Referans / Reference 

233 



 

 

Gºvde / Sump FK 
01884 

Referans / Reference 

Gºmlek / Cylinder Liner FK 
00014 

Referans /Reference 

¦st Kapak / Cover FK 
00012 

Referans / Reference 

Pleyt / Plate FK 
00356 

Referans / Reference 

234 

Filkar 

Isuzu NQR 

NKR 

4 HFI 

NPR 4 HKI 

E 4 

Silindir ¢apĩ / Cylinder Bore Ï60 

Strok / Stroke 25 mm 

Hacim / Swept Volume 70 cm3 

Max. ¢alĩīma Devri / Max. Operating Speed 3000 rpm 

Mak. ¢alĩīma Basĩncĩ / Max. Operating Pressure 10 bar 

Mak. ¢alĩīma Sĩcaklĩħĩ / Max. Operating Temperature 200 ÁC 

Yaħlama Sistemi / Lubrication Supplied Engine 

Soħutma Tipi / Cooling Type Hava/Air 

Sogutma Hava Akĩīĩ / Cooling Air Flow @ >8 Bar 8 m/s 

Hava Emiī Portu / Inlet Port [0] Ï14 

Hava ¢ĩkĩī Portu / Discharge Port [2] 3/4"x16G 

Yaħ Giriī Portu / Oil Supply Port [8.1] M10x1,25 

Yaħ ¢ĩkĩī Portu / Oil Drain Port [8.2] M12x1,5 

Soħutma Suyu Giriī Portu / Coolant Inlet Port [9.1] 

Soħutma Suyu ¢ĩkĩī Portu / Coolant Drain Port [9.2] 

FK 010 23010 HAVA KOMPRES¥R¦ 



 
 

Biyel Kolu / Con Rod FK 

00359 

Referans / Reference 

Krank / Crank FK 

00047 

Referans / Reference 

Piston / Piston FK 

00015 

Referans / Reference 

Segman / Ring FK 

00017 

Referans / Reference 

Rulman K. / Bearing Flange FK 00460 FK 00045 Kasnak / Pulley 

Referans / Reference Referans / Reference 

¦st Kapak Takĩmĩ / Cover Kit FK 010 90052 FK 010 90000 

Referans / Reference 

Tamir Takĩmĩ / Repair Kit 

Referans / Reference 

Ke­e / Seai FK 

00055 

Referans / Reference 

Rulman / Bearing FK 

00016 

Referans / Reference 

235 




